			Populat		
			ion of	Local	Local
			the	Government	Government
			Legal	Operating	Operating
	Regional		Service	Revenue -	Revenue -
PLUM CREEK LIBRARY SYSTEM LIBRARIES	System	Library Size	Area	City	County
HENDRICKS: SIVERSON PUBLIC LIBRARY	PCLS	Group 1: Serve 1,499 or less	895	\$20,000	\$14,000
LAKE BENTON PUBLIC LIBRARY	PCLS	Group 1: Serve 1,499 or less	901	\$28,000	\$14,000
LAMBERTON PUBLIC LIBRARY	PCLS	Group 1: Serve 1,499 or less	1,314	\$40,235	\$14,980
EDGERTON PUBLIC LIBRARY	PCLS	Group 2: Serve 1,500-2,999	1,879	\$43,489	\$21,114
FULDA MEMORIAL LIBRARY	PCLS	Group 2: Serve 1,500-2,999	1,897	\$55,654	\$25,154
IVANHOE PUBLIC LIBRARY	PCLS	Group 2: Serve 1,500-2,999	1,854	\$32,000	\$14,000
MINNEOTA PUBLIC LIBRARY	PCLS	Group 2: Serve 1,500-2,999	1,734	\$41,925	\$15,956
MORGAN PUBLIC LIBRARY	PCLS	Group 2: Serve 1,500-2,999	2,307	\$43,511	\$13,789
TRACY PUBLIC LIBRARY	PCLS	Group 2: Serve 1,500-2,999	2,116	\$120,956	\$15,500
TYLER PUBLIC LIBRARY	PCLS	Group 2: Serve 1,500-2,999	1,861	\$61,958	\$13,796
WABASSO PUBLIC LIBRARY	PCLS	Group 2: Serve 1,500-2,999	2,247	\$41,148	\$37,386
WESTBROOK PUBLIC LIBRARY	PCLS	Group 2: Serve 1,500-2,999	1,558	\$54,594	\$10,370
MOUNTAIN LAKE PUBLIC LIBRARY	PCLS	Group 3: Serve 3,000-5,999	3,320	\$163,623	\$31,044
SLAYTON PUBLIC LIBRARY	PCLS	Group 3: Serve 3,000-5,999	4,597	\$100,635	\$36,390
WINDOM PUBLIC LIBRARY	PCLS	Group 3: Serve 3,000-5,999	4,514	\$189,992	\$19,055
JACKSON COUNTY LIBRARY	PCLS	Group 4: Serve 6,000-11,999	9,858	\$72,198	\$490,213
PIPESTONE: MEINDERS COMMUNITY LIBRARY	PCLS	Group 4: Serve 6,000-11,999	8,410	\$116,150	\$31,672
REDWOOD FALLS PUBLIC LIBRARY	PCLS	Group 4: Serve 6,000-11,999	7,083	\$371,358	\$40,667
ROCK COUNTY COMMUNITY LIBRARY	PCLS	Group 4: Serve 6,000-11,999	9,359	\$0	\$353,816
MARSHALL-LYON COUNTY LIBRARY	PCLS	Group 5: Serve 12,000-23,999	22,128	\$661,436	\$327,552
NOBLES COUNTY LIBRARY	PCLS	Group 5: Serve 12,000-23,999	21,976	\$0	\$688,067
PLUM CREEK LIBRARY SYSTEM	PCLS	Group 8: Federated Regional System	116,250	\$0	\$29,250
MN LIBRARIES OF SIMILAR SIZE					
CLOQUET PUBLIC LIBRARY	ALS	Group 5: Serve 12,000-23,999	12,374	\$600,000	\$0
GRAND RAPIDS AREA LIBRARY	ALS	Group 5: Serve 12,000-23,999	21,231	\$697,397	\$144,150
HIBBING PUBLIC LIBRARY	ALS	Group 5: Serve 12,000-23,999	16,093	\$786,542	\$0
COLUMBIA HEIGHTS PUBLIC LIBRARY	MELSA	Group 5: Serve 12,000-23,999	21,124	\$1,002,850	
SOUTH SAINT PAUL PUBLIC LIBRARY	MELSA	Group 5: Serve 12,000-23,999	20,774	\$781,771	

STILLWATER PUBLIC LIBRARY	MELSA	Group 5: Serve 12,000-23,999	19,767	\$1,353,200	\$0
MARSHALL-LYON COUNTY LIBRARY	PCLS	Group 5: Serve 12,000-23,999	22,128	\$661,436	\$327,552
NOBLES COUNTY LIBRARY	PCLS	Group 5: Serve 12,000-23,999	21,976	\$0	\$688,067
KASSON PUBLIC LIBRARY	SELCO	Group 5: Serve 12,000-23,999	16,839	\$361,203	\$56,932
RED WING PUBLIC LIBRARY	SELCO	Group 5: Serve 12,000-23,999	21,222	\$1,141,835	\$143,686
MARTIN COUNTY LIBRARY	TDS	Group 5: Serve 12,000-23,999	19,683	\$90,686	\$799,074
NEW ULM PUBLIC LIBRARY	TDS	Group 5: Serve 12,000-23,999	13,562	\$825,073	\$16,300
NORTH MANKATO TAYLOR LIBRARY	TDS	Group 5: Serve 12,000-23,999	16,278	\$633,575	\$60,044
SIBLEY COUNTY LIBRARY	TDS	Group 5: Serve 12,000-23,999	14,899	\$220,264	\$382,812
ST. PETER PUBLIC LIBRARY	TDS	Group 5: Serve 12,000-23,999	20,981	\$283,714	\$50,921
FERGUS FALLS PUBLIC LIBRARY	VLS	Group 5: Serve 12,000-23,999	19,093	\$819,072	\$87,148

Per Capita City: \$661,436 revenue / 13487 population=

\$49.04

	_			
State	Federal	Operating	T - 4 - 1	Per
Government	Government	Revenue -		
Operating	Operating	Regional	Operating	Capita
Revenue	Revenue	System	Revenue	Funding
\$0	\$0	\$800	\$35,048	\$39.16
\$0	\$0	\$8,000	\$55,000	\$61.04
\$0	\$2,087	\$1,250	\$63,456	\$48.29
\$0	\$11,705	\$0	\$76,308	\$40.61
\$0	\$0	\$0	\$81,754	\$43.10
\$0	\$0	\$0	\$46,105	\$24.87
\$0	\$0	\$0	\$58,684	\$33.84
\$0	\$0	\$0	\$57,300	\$24.84
\$0	\$0	\$0	\$136,456	\$64.49
\$0	\$0	\$0	\$75,754	\$40.71
\$0	\$0	\$0	\$112,107	\$49.89
\$0	\$0	\$0	\$65,486	\$42.03
\$0	\$0	\$0	\$195,173	\$58.79
\$0	\$0	\$0	\$137,025	\$29.81
\$0	\$0	\$0	\$211,533	\$46.86
\$0	\$0	\$1,100	\$589,760	\$59.83
\$0	\$5,000	\$0	\$228,927	\$27.22
\$0	\$15,444	\$936	\$445,466	\$62.89
\$0	\$0	\$300	\$354,116	\$37.84
\$0	\$0	\$15,987	\$1,032,995	\$46.68
\$0	\$0	\$4,500	\$710,639	\$32.34
\$477,668	\$0	\$1,576	\$911,030	\$7.84
	·	. ,		
\$0	\$0	\$7,645	\$629,645	\$50.88
\$0	\$0	\$8,045	\$900,523	\$42.42
\$0	\$0	\$6,636	\$793,178	\$49.29
\$0	\$24,992	\$0	\$1,059,717	\$50.17
\$0	\$0	\$0	\$786,237	\$37.85
		-		

\$0	\$57,003	\$2,543	\$1,492,939	\$75.53
\$0	\$0	\$15,987	\$1,032,995	\$46.68
\$0	\$0	\$4,500	\$710,639	\$32.34
\$0	\$0	\$19,445	\$450,113	\$26.73
\$0	\$0	\$24,784	\$1,372,065	\$64.65
\$0	\$0	\$0	\$899,238	\$45.69
\$0	\$32,256	\$0	\$889,929	\$65.62
\$0	\$0	\$30,242	\$752,784	\$46.25
\$0	\$61,800	\$0	\$664,876	\$44.63
\$0	\$0	\$0	\$412,382	\$19.66
\$0	\$9,717	\$0	\$978,788	\$51.26

Colors based on state median per capita =

\$44.75